NEW TO RANGE

2023-06 (BY APPLICATION)
~ NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWHKW KATANOIA~YENI CIKAN URUNLER ~ g slis i~

ACURA TL UA6-UA7 (3rd Gen.) 08/03-08/08
6705000 TRACK CONTROL ARM 217 mm
52390SEPAO3 pblyar

Barra oscilante, suspensién de ruedas
Triangle de suspension

3609 147 TRACK CONTROL ARM RAER
denge kolu, arka alt NON-ADJUSTABLE TYPE
52360SEPAO1 pblyar

Barra oscilante, suspensién de ruedas
Triangle de suspension

"]

3600096 TRACK CONTROL ARM BUSH REAR; LOWER

denge kol burcu, arka alt 41,7x12,3x45 mm
52350SDAA00 caiineHT610K FOR 3609122/3609147
52350SEPA0O Casquillo cojinete, brazo oscilante
52360SDAA00 S1

Silent bloc de suspension

ACURA TSX CL9 (1st Gen.) 08/04-08/08

TRACK CONTROL ARM RAER
3609147 denge kolu, arka alt NON-ADJUSTABLE TYPE

H 52360SEPAOL pbiuar

Barra oscilante, suspensién de ruedas
Triangle de suspension

REAR; LOWER
- 3600096 TRACK CONTROL ARM BUSH ;
denge kol burcu, arka alt 41,7x12,3x45 mm
i 52350SDAA00 caneHTb10K FOR 3609122/3609147
< 52350SEPAQO Casquillo cojinete, brazo oscilante
52360SDAA00 S1

Silent bloc de suspension

ALFA ROMEO GIULIETTA (940) 04/10 -
= TRACK CONTROL ARM BUSH REAR
@ 1000032 denge kol burcu, arka tst UPPER
e 51806613 S1 caiineHT6NOK FOR 1009038/9
51827373 51 Casquillo cojinete, brazo oscilante
s_— 51891068 51 Silent bloc de suspension
TRACK CONTROL ARM REAR
1009040 denge kolu, arka alt LOWER

q 50521929 pblyar
68189762AA Barra oscilante, suspensién de ruedas
Triangle de suspension

1000033 TRACK CONTROL ARM BUSH REAR
denge kol burcu, arka i alt INER; LOWER
50521929 S1 calineHT6N0K pblyara FOR 1009040
68189762AA 51 Rétula de suspension/carga
Silent bloc de suspension
1000034 TRACK CONTROL ARM BUSH REAR
@ denge kol burcu, arka dis alt OUTER; LOWER
| B 50521929 S2 caiineHT610K pblyara FOR 1009040
68189762AA 52 Rétula de suspension/carga

Silent bloc de suspension

STOCK AND PRICE INFO ONLINE
2023-06 (BY APPLICATION) WWW FORMPART.COM 1of37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

AUDI A3 (8YA) 11/19-

TIE ROD END LH
2902050 rotbasi, 6n sol M16x1,5
5WA423811C HaKOHEYHUK py/nieBoM TATU PAIR:2902051
SWAA423811E Roétula barra de acoplamiento
5WA423811F Rotule de direction

TIE ROD END RH
2902051 rotbasi, 6n sag M16x1,5
5WA423812C HAKOHEYHUK py/NieBo TArn PAIR:2902050
5WA423812E Rétula barra de acoplamiento
S5WA423812E

Rotule de direction

BMW 3 SERIES (G20) 11/18-
AXIAL JOINT COMPLETE LH
1277077 komple rotmili, &n sol FRONT
32106871884 pynesas Tara B c6ope PAIR:1277078
Barra de acoplamiento
Biellette de direction, comple
AXIAL JOINT COMPLETE RH
1277078 komple rotmili, 6n sag FRONT
32106871892 pynesas Tara B c6ope PAIR:1277077
Barra de acoplamiento
Biellette de direction, comple
BMW 6 Gran Turismo (G32) 06/17 -
1200162 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
rotilli kol burcu, 6n sag-sol
31106861151 S1 callneHTbnoK FOR 1205182/3/4/5
31106861152 S1 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
BMW 7 (G11, G12) 07/15-
1200162 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
rotilli kol burcu, 6n sag-sol
31106861151 S1 calneHTbnoK FOR 1205182/3/4/5
31106861152 S1 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
Q\
BMW i8 (112) 08/14- N
TRACK CONTROL ARM LH
S 1205190 rotilli kol, 6n sol FRONT
@ Y alaE @ 31126866197 pbiuar PAIR:1205191
kg =~ e Barra oscilante, suspensién de ruedas

2023-06 (BY APPLICATION)

Triangle de suspension

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

2 0f 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

TRACK CONTROL ARM RH
o 1205191 rotilli kol, 6n sag FRONT
@ ‘ 31126866198 pblyar PAIR:1205190
- Barra oscilante, suspensién de ruedas
Triangle de suspension
1200165 TRA('ZK CONTROE ARI\{I BUSH BOTH SIDES,FRONT
rotilli kol burcu, 6n sag-sol
31126866197 S1 calineHT6N0K pblyara FOR 1205190/1
31126866198 S1 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
BMW X3 (GO1, F97) 08/17-
AXIAL JOINT COMPLETE LH
1277077 komple rotmili, 6n sol FRONT
32106871884 pynesas Tara B cbope PAIR:1277078
Barra de acoplamiento
Biellette de direction, comple
AXIAL JOINT COMPLETE RH
1277078 komple rotmili, 6n sag FRONT
32106871892 pyneBas Tara B c6ope PAIR:1277077
Barra de acoplamiento
Biellette de direction, comple
BMW X4 (G02, F98) 04/18 -
AXIAL JOINT COMPLETE LH
1277077 komple rotmili, &n sol FRONT
32106871884 pynesas Tara B c6ope PAIR:1277078
Barra de acoplamiento
Biellette de direction, comple
AXIAL JOINT COMPLETE RH
1277078 komple rotmili, 6n sag FRONT
32106871892 pynesas Tara B c6ope PAIR:1277077
Barra de acoplamiento
Biellette de direction, comple
BMW X5 (GO05, F95) 08/18-
AXIAL JOINT COMPLETE RH
1277074 L

&

$
g hﬁi’ 32106884810

komple rotmili, 6n sag
pynesas Tara B cbope

Barra de acoplamiento
Biellette de direction, comple

PAIR:1277073

- 1277075
é AT i~ T & 32101543907

AXIAL JOINT COMPLETE
komple rotmili, 6n sol
pynesas Tara B c6ope

Barra de acoplamiento
Biellette de direction, comple

LH
FRONT

PAIR:1277076

1277076

!,
o c; 32101543908
e T |

AXIAL JOINT COMPLETE
komple rotmili, 6n sag
pynesas Tara B cbope

Barra de acoplamiento
Biellette de direction, comple

RH
FRONT

PAIR:1277075

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

30f37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

BMW X6 (GO6) 01/19-
1277074 AXIAL JOINT.C.O.I'VIPLEVTE E::ONT
; komple rotmili, 6n sag
~ o 32106884810 pynesas Tara B c6ope PAIR:1277073
; siam PPN A\
-m < ) u Barra de acoplamiento
Biellette de direction, comple
BMW X7 (G07) 03/19-
RH
1277074 AXIAL JOINT.(;O_MPLE“TE FRONT
; komple rotmili, 6n sag
_ﬂ; sl "“ 32106884810 pyneBas Tara B c6ope PAIR:1277073
- ' Barra de acoplamiento
Biellette de direction, comple
LH
1277075 AXIAL JOINT.(;OIMPLETE FRONT
& komple rotmili, 6n sol
u s ) s = 32101543907 pynesas Tara B cbope PAIR:1277076
) ! Barra de acoplamiento
Biellette de direction, comple
1277076 AXIAL JOINT.C.OIIIVIPLEVTE ESONT
_3 komple rotmili, 6n sag
) .f‘ i w 32101543908 pynesas Tara B c6ope PAIR:1277075
B Barra de acoplamiento
Biellette de direction, comple
BMW 24 (G29) 11/18-

. 1208114
> ‘ 31306886280

STABILIZER LINK
zrot, On sag
cToiiKa ctabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

FRONT,RH
L=391 mm

PAIR:1208115

1208115
‘ Q 31306886279

STABILIZER LINK
z rot, 6n sol
cToliKa ctabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

FRONT,LH
L=391 mm

PAIR:1208114

BUICK RAINIER 08/04-08/05
o TRACK CONTROL ARM BUSH BOTH SIDES, FRONT
— 5600094 salincak burcu, 6n sag-sol
L R 15077244 caneHTbnok FOR 5609025/6
15080913 Casquillo cojinete, brazo oscilante
q 15858682

Silent bloc de suspension

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

4 0f 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

Barra oscilante, suspensién de ruedas

CADILLAC ESCALADE 4th Generation GMT 09/14-
WISHBONE FRONT,RH
/ 5609146 salincak, 6n sag, st UPPER
23420264 pbluar PAIR:5609147
84479375 Barra oscilante, suspensién de ruedas
Triangle de suspension
WISHBONE FRONT,LH
\ 5609147 salincak, 6n sol, Gst UPPER
23420263 pblyar PAIR:5609146
84479374

Triangle de suspension

CHEVROLET CAMARO 5th Generation 08/10 - 08/15 H—j
<)
' 5608017 STABILIZER LINK REAR
denge rotu, arka
22900200 cToiiKa ctabunusatopa
92232339 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
CHEVROLET CAPTIVA SPORT 01/07-
5609150 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, st
15146375 pbiyar
22842512 Barra oscilante, suspensién de ruedas
22345699 Triangle de suspension
5600093 TRACK CONTROL ARM BUSH
denge kol burcu
22842512 S1 caiineHT6N0K FOR 5609150
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
CHEVROLET CAPTIVA SPORT 08/12 - 08/15
5609150 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, st
15146375 pblyar
22842512 Barra oscilante, suspensién de ruedas
22945699 Triangle de suspension
5600093 TRACK CONTROL ARM BUSH
denge kol burcu
22842512 S1 caiineHT6N0K FOR 5609150

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

5of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

CHEVROLET SILVERADO 1500 08/14-08/18
5609146 sk, 6n s, st Upee
23420264 pbluar PAIR:5609147
84479375 Barra oscilante, suspensién de ruedas

Triangle de suspension

5609147 WISHBONE FRONT,LH

salincak, 6n sol, Ust UPPER
23420263 pblyar PAIR:5609146
84479374 Barra oscilante, suspensién de ruedas

AN

Triangle de suspension

CHEVROLET SUBURBAN 11th Generation 01/15-
5609146 salmcak, on sag, it UPPER
23420264 pbiyar PAIR:5609147
84479375 Barra oscilante, suspensién de ruedas

Triangle de suspension

5609147 WISHBONE FRONT,LH

salincak, 6n sol, Ust UPPER
23420263 pblyar PAIR:5609146
84479374 Barra oscilante, suspensién de ruedas

AN

Triangle de suspension

CHEVROLET TAHOE 01/15-
WISHBONE FRONT,RH
5609146 salincak, 6n sag, st UPPER
23420264 pblyar PAIR:5609147
84479375 Barra oscilante, suspension de ruedas

Triangle de suspension

5609147 WISHBONE FRONT,LH

salincak, 6n sol, Ust UPPER
23420263 pblyar PAIR:5609146
84479374 Barra oscilante, suspensién de ruedas

AN

Triangle de suspension

DODGE DURANGO 3rd Generation 06/10-08/17
. 6107013 ot M1641,5/M18x0,5; L-210 mm
~X 68424439AA nesan TAra
;\‘. 68303629AB z\:ticulacién axial, barra de acoplamiento

Rotule de direction intérieure

STOCK AND PRICE INFO ONLINE
2023-06 (BY APPLICATION) WWW FORMPART COM 60f37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

DODGE DURANGO 4th Generation 01/17-
TIE ROD END LH
6102023 rotbasi, 6n sol M16x1,5
68303631AA HaKOHEYHWK py/ieBOM TArU PAIR:6102024
K68303631AA Rétula barra de acoplamiento
Rotule de direction
TIE ROD END RH
6102024 rotbasi, 6n sag M16x1,5
68303630AA HaKOHEYHWK py/NIeBOM TATU PAIR:6102023
K68303630AA Rétula barra de acoplamiento
Rotule de direction
DODGE RAM 1500 08/02-08/09
6001024 TIE ROD END LH
rotbasl, 6n sol, dig
5086146AB HaKOHEYHWK pyNeBoM TATU
ES3625

Rétula barra de acoplamiento
Rotule de direction

DODGE RAM 1500 (DJ,DS) 10/08-
TRACK CONTROL ARM FRONT; UPPER

6009116 rotilli kol, 6n Gist 4WD WITH 8 LUG WHEELS
52013797AC Barra oscilante, suspensién de ruedas
52106784AD Triangle de suspension
6000084 TRACK CONTROL ARM BUSH FRONT; UPPER

@ rotilli kol burcu, 6n Ust

P - 52013797AB S1 caitneHTén0K FOR 6009116
52013797AC S1

52106784AD S1

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

a

DODGE RAM 2500 -3500 08/02-08/09 N w
6001024 TIE ROD END LH
rotbasl, 6n sol, dis
5086146AB HaKOHEYHUK pyNeBon TArn
ES3625 Rétula barra de acoplamiento
Rotule de direction
TRACK CONTROL ARM FRONT; UPPER
6009116 rotilli kol, n Gst 4WD WITH 8 LUG WHEELS
52013797AB pblyar
52013797AC Barra oscilante, suspensién de ruedas
52106784AD Triangle de suspension
6000084 TRACK CONTROL ARM BUSH FRONT; UPPER
@ rotilli kol burcu, 6n Ust
| . 52013797AB S1 calineHT6N0K FOR 6009116
52013797ACS1

52106784AD S1

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

7 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

DS DS 3 CROSSBACK (UR_, UC_, UJ_ 10/18 -

2107060

AXIAL JOINT
rotmili, 6n sag-sol

BOTH SIDES

M14x1,5;M14x1,5;L=295 mm

1648322280 pyneBas Tara
Articulacioén axial, barra de acoplamiento
Rotule de direction intérieure
BALL JOINT BOTH SIDES
2104027 rotil, 6n sag-sol FRONT
9824626780 wapoBas onopa ONLY FOR ELECTRICAL VEHICLES
9831682580 52 Rétula de suspension/carga
9831682780 52 Rotule de suspension
FIAT 500X (334) 09/14-
) STABILIZER LINK FRONT
3 1408053 denge gubugu, 6n L=281 mm
) 53477126 cTolika cTabunusatopa
L 68246496AD Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
FIAT CINQUECENTO 11/91 - 02/98
1400111 TRACK CONTROL ARM BUSH REAR
salincak burcu, arka
51932971 caiineHT610K FOR 1409110/11
51932972 Casquillo cojinete, brazo oscilante
51332973 Silent bloc de suspension
FIAT DOBLO 02/10-
STABILIZER LINK REAR
1408028 denge rotu L=86 MM
51810124 cToiiKa ctabunusatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
=
(PN
FIAT PANDA (169) 08/03 -02/12 - —
1400111 TRACK CONTROL ARM BUSH REAR
salincak burcu, arka
51932971 caiineHT610K FOR 1409110/11
51932972 Casquillo cojinete, brazo oscilante
51932973

Silent bloc de suspension

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

8 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

FIAT SEICENTO 02/98 -
140011 1 TRACK CONTROL ARM BUSH REAR
salincak burcu, arka
51932971 caneHTbnok FOR 1409110/11
51932972 Casquillo cojinete, brazo oscilante
51932973 Silent bloc de suspension
FORD F-250 SUPER DUTY 01/16-
STABILIZER LINK REAR
2 : 1508163 denge rotu, arka sag-sol L=225 mm
0 " ’ HC3Z75K484C CTOWKa cTabunusaropa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
FORD EXPEDITION 3rd Generation 01/07-01/15
1509290 TRACK CONTROL ARM REAR; UPPER
denge kolu, arka ust
H 7L1Z5500A pblyar
711755008 Barra oscilante, suspensién de ruedas
Triangle de suspension
TRACK CONTROL ARM REAR
1509295 denge kolu, arka alt LOWER
H 7L1Z5500AA pbiuar
Barra oscilante, suspensién de ruedas
Triangle de suspension
FORD EXPLORER 09/01-08/05
AXIAL JOINT BOTH SIDES
1507086 rotmili, 6n M14x1,5;M16x1,5;L=300 mm

'%_ 11273280DA

pynesas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

FORD EXPLORER (U251) 08/06-08/10
1509266 TRACK CONTROL ARM BOTH SIDES, REAR
denge kolu, arka sag-sol, st
H 612755008 pbiyar

Barra oscilante, suspensién de ruedas
Triangle de suspension

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

9 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

FORD

EXPLORER SPORT TRAC Pick up 08/06-08/10

1509266

H 612755008

TRACK CONTROL ARM
denge kolu, arka sag-sol, st
pbluar

Barra oscilante, suspensién de ruedas
Triangle de suspension

BOTH SIDES, REAR

FORD EXPLORER (U502) 08/10-08/15
TRACK CONTROL ARM BUSH FRONT
1500222 salincak burcu, 6n alt LOWER
BB573079A S1 CcaNeHT610K pblyara
BB5Z3C377A Rétula de suspension/carga
GB5Z3078A Silent bloc de suspension
FORD F-150 01/15-
WISHBONE LH, FRONT
1509229 salincak, 6n, alt sol LOWER
FL3Z3079A pbluar Pair: 1509230
FL373079B Barra oscilante, suspensién de ruedas
FL323079C Triangle de suspension
WISHBONE RH, FRONT
1509230 salincak, 6n, alt sag LOWER
FL3Z3078A pblvar Pair: 1509229
FL3Z730788B Barra oscilante, suspensién de ruedas
JL1Z3078A Triangle de suspension
FORD F-250 ,F250 SUPER DUTY 01/99-07/08
STABILIZER LINK FRONT
1508140 denge rotu, 6n sag-sol =110 mm
7C3Z5K483A cToiiKa ctabunusatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
FORD F-350, F350 SUPER DUTY 01/99 -12/07
STABILIZER LINK FRONT
1508140 denge rotu, 6n sag-sol L=110 mm
7C3Z5K483A cToliKa ctabunusaropa

b

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

10 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

FORD F-350 SUPER DUTY 01/16-
STABILIZER LINK REAR
> 7 - 1508163 denge rotu, arka sag-sol L=225 mm
0 " B HC3Z5K484C cToliKa ctabunusatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
FORD F-450 SUPER DUTY 01/16-
STABILIZER LINK REAR
2 : 1508163 denge rotu, arka sag-sol L=225 mm
0 " ’ HC3Z75K484C CTOWKa cTabunusaropa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
FORD F-550 SUPER DUTY 01/16-
STABILIZER LINK REAR
> 7 - 1508163 denge rotu, arka sag-sol L=225 mm
0 " B HC3Z5K484C cToliKa ctabunusatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
FORD FOCUS IIl USA 04/11- Q e
BALL JOINT LH
1504053 rotil, 6n sol Sedan, Transit XLT Mini Cargo Van 4-Door
DV6Z3079A waposas onopa PAIR:1504054
Rétula de suspension/carga
Rotule de suspension
BALL JOINT RH
1504054 rotil, 6n sag Sedan, Transit XLT Mini Cargo Van 4-Door
DV6Z3078A waposas onopa PAIR:1504053
Roétula de suspensidn/carga
Rotule de suspension
FORD FOCUS IV (HN) 08/18-
WISHBONE FRONT,RH; LOWER
1509293 salincak, 6n sag, alt 1.0/1.5L PETROL
2216265 S2 pblyar PAIR:1509294
JX613A423CEB S1 Barra oscilante, suspensién de ruedas
Triangle de suspension
WISHBONE FRONT,LH; LOWER
1509294 salincak, 6n sol, alt 1.0/1.5L PETROL
221626751 pblyar PAIR:1509293
JX613A424CEB S1

Barra oscilante, suspensién de ruedas
Triangle de suspension

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

11 0f 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

T

FORD FOCUS IV (CGE) 10/18-
WISHBONE FRONT,RH; LOWER
1509293 salincak, 6n sag, alt 1.0/1.5L PETROL
2216265 S2 pblyar PAIR:1509294
JX613A423CEB S1 Barra oscilante, suspensién de ruedas
Triangle de suspension
WISHBONE FRONT,LH; LOWER
1509254 salincak, 6n sol, alt 1.0/1.5L PETROL
221626751 pblyar PAIR:1509293
JX613A424CEB S1 Barra oscilante, suspensién de ruedas
Triangle de suspension
FORD GALAXY 09/15-
TRACK CONTROL ARM LH, REAR
1509231 denge kolu, arka, ust sol UPPER
5309161 pblyar NnoABeCKU Pair: 1509232
E1GC5501AXA Barra oscilante, suspensién de ruedas
E1GZ55008 Triangle de suspension
TRACK CONTROL ARM RH, REAR
1509232 denge kolu, arka, Ust sag UPPER
5309139 pblyar noABeCcKuU Pair: 1509231
E1GC5500AXA Barra oscilante, suspension de ruedas
E1GZ5500A Triangle de suspension
FORD KUGA Il 01/20-
STABILIZER LINK FRONT
2 1508175 denge rotu, 6n L=318 mm
-__’ 2451509 cToiiKa crabunusaropa
k LX613B438AEA Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
FORD PUMA 09/19-
TIE ROD AXIAL JOINT FRONT
1507107 rotmili, 6n sag-sol M14x1,5;M14x1,5;L=294,5 mm
‘E,, mp— ez 2415168 pynesas Tara
KTL1TC3L555AB Articulacién axial, barra de acoplamiento
Rotule de direction intérieure
FORD RANGER I 06/06 -03/11
1509288 WISHBONE FRONT,RH
salincak, 6n sag, alt
1484027 S1 pbiyar PAIR:1509289
6M343078AB S1 Barra oscilante, suspensién de ruedas
6M343078BB S1

2023-06 (BY APPLICATION)

Triangle de suspension

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

12 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

1509289 WISHBONE
salincak, 6n sol, alt
1484028 S1 pbiyar
6M343079AB S1 Barra oscilante, suspensién de ruedas
6M343079BB S1

Triangle de suspension

FRONT,LH

PAIR:1509288

FORD S-MAX (CJ,WA®6) 01/15-

TRACK CONTROL ARM LH, REAR
1509231 denge kolu, arka, ust sol UPPER
5309161 pblyar NnoABeCKU Pair: 1509232
E1GC5501AXA Barra oscilante, suspensién de ruedas
E1GZ55008 Triangle de suspension

TRACK CONTROL ARM RH, REAR
1509232 denge kolu, arka, Ust sag UPPER
5309139 pblyar NoABeCKU Pair: 1509231
E1GC5500AXA Barra oscilante, suspensién de ruedas
E1GZ5500A

Triangle de suspension

FORD THUNDERBIRD 02/02-09/05
-» TIE ROD END RH
F 1502114 rotbasi, 6n sag, dis M14x1,5
i 3W4Z3A130AA HaKOHEYHWUK pyNieBOM TATU PAIR:1502115
Roétula barra de acoplamiento
Rotule de direction
-, TIE ROD END LH
3 1502115 rotbasi, 6n sol, dis M14x1,5
3 3W4Z3A130AB HaKOHEYHWK py/ieBOM TArU PAIR:1502114
Rétula barra de acoplamiento
Rotule de direction
FORD TRANSIT CONNECT 08/14-
BALL JOINT LH
1504053 rotil, én sol Sedan, Transit XLT Mini Cargo Van 4-Door
DV6Z3079A waposas onopa PAIR:1504054

Rétula de suspension/carga
Rotule de suspension

1504054 BALL JOINT
rotil, 6n sag
DV6Z3078A waposas onopa

Roétula de suspensidn/carga

Rotule de suspension

RH

Sedan, Transit XLT Mini Cargo Van 4-Door

PAIR:1504053

GMC TERRAIN 08/10-08/16
5609150 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, st
15146375 pbiyar
22842512 Barra oscilante, suspensién de ruedas
22945699

Triangle de suspension

STOCK AND PRICE INFO ONLINE
2023-06 (BY APPLICATION) WWW.FORMPART.COM

13 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

5600093

22842512 S1

TRACK CONTROL ARM BUSH
denge kol burcu
calineHT6N0K

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

FOR 5609150

GMC YUKON 4th Generation 01/15-11/19
WISHBONE FRONT,RH
5609146 salincak, 6n sag, ist UPPER
23420264 pblyar PAIR:5609147
84479375 Barra oscilante, suspensién de ruedas
Triangle de suspension
WISHBONE FRONT,LH
5609147 salincak, 6n sol, Ust UPPER
23420263 pbiyar PAIR:5609146
84479374 Barra oscilante, suspensién de ruedas
Triangle de suspension
HONDA ACCORD VII (CL, CN) 09/03 -08/12
3609147 TRACK CONTROL ARM RAER
denge kolu, arka alt NON-ADJUSTABLE TYPE
H 52360SEPAO1 pblyar
Barra oscilante, suspensién de ruedas
Triangle de suspension
TRACK CONTROL ARM BUSH REAR; LOWER
L J
3600096 denge kol burcu, arka alt 41,7x12,3x45 mm
- 52350SDAA00 caiineHT610K FOR 3609122/3609147
L 52350SEPA0O Casquillo cojinete, brazo oscilante
52360SDAA00 51 Silent bloc de suspension
HONDA ACCORD VIl Tourer (CM) 04/03 -07/08
TIE ROD AXIAL JOINT FRONT
.;_-.m. 3607082 rotmili, 6n M14x1,5;M14x1,5;L.=128 mm
53010SDPAO1 pynesas Tara Coupe/Manuel Transmission; Year only2003-
—~ Articulacion axial, barra de acoplamiento 07
Rotule de direction intérieure
HONDA ACCORD 01/18-
STABILIZER LINK REAR
3608122 denge rotu, arka L=59 mm
52320TLBAOO cToiiKa ctabunusatopa ALUMINIUM

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

14 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

HONDA CIVIC IV 09/87 - 11/95
3600097 TRACK CONTROL ARM BUSH LH
salincak burcu, sol
51396SR0OA01 calineHT6N0K
51396SR0A02 Casquillo cojinete, brazo oscilante
513365R3N01 Silent bloc de suspension
3600098 TRACK CONTROL ARM BUSH REAR
salincak burcu, arka
52364SHOA01 caiineHT610K pblyara 31,3x10,3x50 mm
523655H3000 51 Rétula de suspension/carga
Silent bloc de suspension
HONDA CIVIC VII 02/01 - 09/05 h
3600013 TRACK CONTROL ARM BUSH
salincak burcu
51350-S9A-010 S2 calineHT610K pbluara FOR 3609152/3
51360-59A-010 52 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
HONDA CROSSTOUR 08/10-08/15
3607081 TIE ROD AXIAL JOINT BOTH SIDES

o=

o

o 53010TP6A01

rotmili, 6n sag-sol

pynesas Tara

Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

M14x1,5:M20x1,5;L=167 mm

Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

HONDA CR-VIII 03/02 -
3600013 TRACK CONTROL ARM BUSH
salincak burcu
51350-S9A-010 S2 calineHT610K pbluara FOR 3609152/3
51360-59A-010 52 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
HONDA CR-V 1l 10/06 -
AXIAL JOINT BOTH SIDES
3607053 rotmili, 6n sag-sol M14x1,5;M20x1,5;L=279 mm
_ 53010SXSA01 pyneBas Tara
—® 530105XSA02

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

15 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

HONDA CR-V V (RW, RT) 01/17-
& STABILIZER LINK REAR
— - 3608122 denge rotu, arka L=59 mm
i (. .’ 52320TLBAOO cToliKa ctabunusatopa ALUMINIUM
0}’ &\ Travesafios/barras, estabilizador
- Biellette de barre stabilisatrice
HONDA CR-X lll (EH6, EG) 03/92-12/98
3600097 TRACK CONTROL ARM BUSH LH
salincak burcu, sol
51396SR0OA01 caiineHT6N10K
513965R0A02 Casquillo cojinete, brazo oscilante
513965R3N01 Silent bloc de suspension
3600098 TRACK CONTROL ARM BUSH REAR
salincak burcu, arka
52364SHOA01 calineHT610K pbluara 31,3x10,3x50 mm
523655H3000 S1 Rétula de suspensidn/carga
Silent bloc de suspension
HONDA ELEMENT 08/03-08/11
A 3603041 BALL JOINT FRONT LOWER
. rotil, 6n alt
51210S9A020 wapoBas onopa
4 . 5121059A982 Rétula de suspension/carga
Q\i' ' 51215594020 Rotule de suspension
3609152 WISHBONE FRONT,LH
salincak, 6n sol
51360SCVAO0 pblyar PAIR:3609153
51360SCVA01 Barra oscilante, suspensién de ruedas
513605CVA02 Triangle de suspension
3609153 WISHBONE FRONT,RH
salincak, 6n sag
51350SCVA00 pblyar PAIR:3609152
51350SCVA01 Barra oscilante, suspensién de ruedas
51350SCVA02

Triangle de suspension

Barra oscilante, suspensién de ruedas

HONDA ODYSSEY (RL3,RL4) 3st Generati 08/05-07/11
TRACK CONTROL ARM RH, REAR
2 3605014 rotilli kol, arka, Ust sag UPPER
52390SHJAO01 pblyar noABeCcKuU Pair: 3605015
Barra oscilante, suspensién de ruedas
Triangle de suspension
TRACK CONTROL ARM LH, REAR
r 3605015 rotilli kol, arka, Ust sol UPPER
! ' 52400SHJAO01 pblyar noaBeckun Pair: 3605014

2023-06 (BY APPLICATION)

Triangle de suspension

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

16 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

.

3600040

52390-SHJ-A01

TRACK CONTROL ARM BUSH
denge kolu burcu, arka
calineHT6N0K

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

REAR

FOR 3605014/5

HONDA ODYSSEY (RL5) 4th Generation 08/11-

3605014

TRACK CONTROL ARM
rotilli kol, arka, Ust sag

RH, REAR
UPPER

52390SHJA01 pblyar NnoABeCKU Pair: 3605015
Barra oscilante, suspensién de ruedas
Triangle de suspension

3605015 TRACK CONTROL ARM LH, REAR

e rotilli kol, arka, Ust sol UPPER

52400SHJA01 pblyar NoABeCKU Pair: 3605014
Barra oscilante, suspensién de ruedas
Triangle de suspension

3600040 TRACK CONTROL ARM BUSH REAR

52390-SHJ-A01

denge kolu burcu, arka
caiineHT6N0K

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

FOR 3605014/5

3602094 TIE ROD END LH
rotbasl, 6n sol
53560THRA02 HaKOHEYHWK py/ieBOM TArU PAIR:3602095
Rétula barra de acoplamiento
Rotule de direction
3602095 TIE ROD END RH
rotbagl, 6n sag
53540THRA02 HaKOHEYHUK pyNeBon TArn PAIR:3602094
Roétula barra de acoplamiento
Rotule de direction
3607083 AXIAL JOINT BOTH SIDES
rotmili, n sag-sol M14x1,5;M16x1,5;L=231 mm
"5-‘ vy % 53610THRAO1 pynesas Tara
Articulacién axial, barra de acoplamiento
Rotule de direction intérieure
3608125 STABILIZER LINK FRONT,LH
denge rotu, 6n sol L=342 mm
. . 51325THRAO1 croiika crabunnsatopa PAIR:3608126
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
3608126 STABILIZER LINK FRONT,RH
denge rotu, 6n sag L=342 mm
. ‘ 51320THRAO1 cToiiKa ctabunusatopa PAIR:3608125
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
3608127 STABILIZER LINK REAR,LH
denge rotu, arka sol L=72 mm
52325THRAO1 cToliKa ctabunusatopa PAIR:3608128

a’?é'«) (‘E A

2023-06 (BY APPLICATION)

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

17 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

3608128

52320THRAO01

STABILIZER LINK
denge rotu, arka sag
cToliKa ctabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

REAR,RH
L=72 mm

PAIR:3608127

HONDA PILOT 2nd Generation 09/08-08/14
TRACK CONTROL ARM RH, REAR
3605014 rotilli kol, arka, iist sag UPPER
52390SHJA01 pblyar NnoABeCKU Pair: 3605015
Barra oscilante, suspensién de ruedas
Triangle de suspension
TRACK CONTROL ARM LH, REAR
e 3605015 rotilli kol, arka, Ust sol UPPER
52400SHJA01 pblyar NoABeCKU Pair: 3605014
Barra oscilante, suspensién de ruedas
Triangle de suspension
3600040 TRACK CONTROL ARM BUSH REAR
denge kolu burcu, arka
52390-SHJ-A01 calineHT6n0K FOR 3605014/5
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
HYUNDAI AZERA 4th Generation (TG) 08/05-08/11
3709136 TRACK CONTROL ARM REAR
denge kolu, arka alt
M 552503K601DS pbiuar
552503K700 Barra oscilante, suspensién de ruedas
352503K701 Triangle de suspension
HYUNDAI ELANTRA - LANTRA 06/00 - 07/06
3709140 STRUT CONTROL ARM BOTH SIDES
denge kolu, arka sag-sol
(o ————— 8, 552202D000 pbivar
Barra oscilante, suspensién de ruedas
Triangle de suspension
HYUNDAI EQUUS/CENTENNIAL 03/09-
3709137 TRACK CONTROL ARM REAR
denge kolu, arka
H 552703M100 pbivar
5527037100

Barra oscilante, suspensién de ruedas
Triangle de suspension

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

18 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

HYUNDAI GENESIS (BH) 01/08-12/15
TIE ROD END LH
3702053 rotbasi, 6n sol FRONT
568203M900 HaKOHEYHWK py/ieBOM TArU Pair: 3702054
Rétula barra de acoplamiento
Rotule de direction
TIE ROD END RH
3702054 rotbasi, 6n sag FRONT
568203M950 HaKOHEYHWK py/NIeBOM TATU Pair: 3702053
Rétula barra de acoplamiento
Rotule de direction
3709137 TRACK CONTROL ARM REAR
denge kolu, arka
H 552703M100 pbivar
5527037100 Barra oscilante, suspensién de ruedas
Triangle de suspension
HYUNDAI SOLARIS II 01/17-
3709138 WISHBONE FRONT,RH
salincak, 6n sag, alt
54501H5000 pblyar PAIR:3709139
Barra oscilante, suspensién de ruedas
Triangle de suspension
3709139 WISHBONE FRONT,LH
salincak, 6n sol, alt
54500H5000 pbiyar PAIR:3709138
Barra oscilante, suspensién de ruedas
Triangle de suspension
HYUNDAI SONATA YV 01/05 -08/10
3709136 TRACK CONTROL ARM REAR
denge kolu, arka alt
M 552503K601DS pblyar
552503K700 Barra oscilante, suspensién de ruedas
552503K701 Triangle de suspension
HYUNDAI TERRACAN HP 06/01-12/06
3700093 TRACK CONTROL ARM BUSH FRONT
burg, 6n
54430H1100 caiineHT6N0K

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

19 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

JAGUAR S-TYPE (X200) 10/98 -12/08
" WISHBONE LH
é ) Lo 4809002 salincak, 6n, Ust sol UPPER, FRONT
£, C2D2475 pbluar Pair: 4809003
C2D36806 Barra oscilante, suspensién de ruedas
o] Triangle de suspension
WISHBONE RH
o ) 4809003 salincak, 6n, st sag UPPER, FRONT
é C2D 2474 pblyar Pair: 4809002
C2D36804 Barra oscilante, suspensién de ruedas
° Triangle de suspension
JAGUAR XJ (X351) 08/09 -
: WISHBONE LH
é ) © 4809002 salincak, 6n, Ust sol UPPER, FRONT
$ C2D2475 pbiyar Pair: 4809003
C2D36806 Barra oscilante, suspensién de ruedas
(] Triangle de suspension
WISHBONE RH
o _ 4809003 salincak, on, Ust sag UPPER, FRONT
‘.é C2D 2474 pblyar Pair: 4809002
C2D36804 Barra oscilante, suspensién de ruedas
° Triangle de suspension
JEEP COMPASS (MP) 12/16- A=
- STABILIZER LINK FRONT
- 1408053 denge cubudu, &n L=281 mm
=) 53477126 cToiiKa ctabunusatopa
L 68246496AD Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
JEEP GRAND CHEROKEE IV (WK2)  06/10- =
TIE ROD END LH
6102023 rotbasi, 6n sol M16x1,5
68303631AA HaKOHEYHWK py/ieBOM TArU PAIR:6102024
K68303631AA Rétula barra de acoplamiento
Rotule de direction
TIE ROD END RH
6102024 rotbagi, 6n sag M16x1,5
68303630AA HaKOHEYHWUK pyNeBOn TArn PAIR:6102023
K68303630AA Roétula barra de acoplamiento
Rotule de direction
AXIAL JOINT BOTH SIDES
Qé\ 6107013 rotmili M16x1,5;M18x1,5; L=210 mm
\ 68424439AA pynesas Tara
;\' 68303629AB Articulacion axial, barra de acoplamiento

Rotule de direction intérieure

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

20 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

JEEP RENEGADE SUV (BU, B1) 07/14-
FRONT
1408053 ez NG
(> 53477126 cToliKa ctabunusatopa
68246496AD Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
KIA RIO IV (YB, SC) 01/17-
RH

4909051 WISHBONE

salincak, 6n, alt sag
54501H8000 pblyar NoABECKU

Barra oscilante, suspensién de ruedas
Triangle de suspension

LOWER, FRONT
Pair: 4909052

salincak, 6n, alt sol
54500H8000 pblyar nogBeckun

Barra oscilante, suspensién de ruedas

\/ 4909052 WISHBONE

Triangle de suspension

LH
LOWER, FRONT

Pair: 4909051

LADA PRIORA 08/08-

1600004 TRACK CONTROL ARM BUSH

salincak burcu, 6n alt
210802904040 calineHT610K pblyara

21082904040 Rétula de suspension/carga

21300230404000 Silent bloc de suspension

FRONT

e 1600003 TRACK CONTROL ARM BUSH

LADA VEGA 2110 01/99 -
BOTH SIDES,FRONT
salincak burcu, 6n sag-sol
21082904046 calineHT610K pbluara
21900290404600 Roétula de suspensidn/carga
21902904046 Silent bloc de suspension
1600004 TRACK CONTROL ARM BUSH FRONT
salincak burcu, 6n alt
210802904040 calineHT610K pblyara
21082904040 Rétula de suspension/carga
21900290404000 Silent bloc de suspension
LADA VAZ 110, 111, 112 06/96 -
1600003 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, 6n sag-sol
21082904046 CaNeHT610K pblyara
21900290404600 Rétula de suspension/carga
21902904046

Silent bloc de suspension

STOCK AND PRICE INFO ONLINE
2023-06 (BY APPLICATION) WWW.FORMPART.COM

210f 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

- 1600004 TRACK CONTROL ARM BUSH FRONT
salincak burcu, 6n alt
210802904040 calineHT610K pblyara
21082904040 Rétula de suspension/carga
21300230404000 Silent bloc de suspension
[EEY < W
LEXUS GS (L10) 12/11- Q = o
] = —
o BALL JOINT RH
& 4204082 rotil, 6n sag, alt FRONT LOWER
4333039865 LwapoBasa onopa, ycuneHHas PAIR:4204083
Roétula de suspensidn/carga
Rotule de suspension
- BALL JOINT LH
, : 4204083 rotil, 6n sol, alt FRONT LOWER
U pa 4334039625 LwapoBasn onopa, ycuneHHas PAIR:4204082
¢ Rétula de suspension/carga
Rotule de suspension
4208133 STABILIZER LINK RH, REAR

48830 30100

denge rotu, sag arka
CTOWKa cTabunusaropa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

Pair: 4208134

4208134

4884030030

STABILIZER LINK
denge rotu, sol arka
cToiiKa ctabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

LH, REAR

Pair: 4208133

LEXUS

IS 1(JCE1, GXE1) 1S200-1S300 04/99 - 07/05 = 1
4200111 TRACK CONTROL ARM BUSH FRONT
salincak burcu, 6n, Ust
4861059025 S1 calineHT6N0K FOR 4209153/4
4861059075 Casquillo cojinete, brazo oscilante
4863059025 51 Silent bloc de suspension
LEXUS RX 300 05/03-12/08
TRACK CONTROL ARM REAR; LOWER
4209249 denge kolu, arka alt FOR FWD; YEAR ONLY 2004-2006
H q 4873048090 pblyar

Barra oscilante, suspensién de ruedas
Triangle de suspension

LEXUS

RX 350 (MHU3,GSU3,MCU3)

08/03-07/08

G o ——t

2023-06 (BY APPLICATION)

4209249

4873048090

TRACK CONTROL ARM
denge kolu, arka alt
pbiuar

Barra oscilante, suspensién de ruedas
Triangle de suspension

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

REAR; LOWER

FOR FWD; YEAR ONLY 2004-2006

22 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

LINCOLN LS 08/00-09/02
» TIE ROD END RH
4 1502114 rotbasi, 6n sag, dis M14x1,5
i 3W4Z3A130AA HaKOHEYHUK py/nieBoM TATU PAIR:1502115
Roétula barra de acoplamiento
Rotule de direction
P TIE ROD END LH
% 1502115 rotbasi, 6n sol, dig M14x1,5
3 3W4Z3A130AB HAKOHEYHUK py/NieBo TArn PAIR:1502114
Rétula barra de acoplamiento
Rotule de direction
LINCOLN LS 08/03-09/06
TIE ROD END RH
1502114 rotbasgi, 6n sag, dis M14x1,5
3W4Z3A130AA HaKOHEYHUK pyNeBon TArn PAIR:1502115
Roétula barra de acoplamiento
Rotule de direction
TIE ROD END LH
1502115 rotbasi, 6n sol, dig M14x1,5
3W4Z3A130AB HaKOHEYHWUK pyNieBOM TATU PAIR:1502114
Roétula barra de acoplamiento
Rotule de direction
LINCOLN NAVIGATOR (U326) 09/06 - 12/14
1509290 TRACK CONTROL ARM REAR; UPPER
denge kolu, arka Ust
H 7L1Z5500A pblyar
711255008 Barra oscilante, suspensién de ruedas
Triangle de suspension
TRACK CONTROL ARM REAR
1509295 denge kolu, arka alt LOWER
H 7L1Z5500AA pbivar
Barra oscilante, suspensién de ruedas
Triangle de suspension
MAZDA CX-7 (ER) 11/06 -08/14
WISHBONE LH
3809050 salincak, arka, Ust sol UPPER, REAR
EG2128C120 pbluar Pair: 3809051
EG2128C20 Barra oscilante, suspensién de ruedas
Triangle de suspension
WISHBONE RH
380905 I salincak, arka, st sag UPPER, REAR
EG2128C10B pbiyar Pair: 3809050

2023-06 (BY APPLICATION)

Barra oscilante, suspensién de ruedas
Triangle de suspension

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

23 0f 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

MERCEDES BENZ

C-SERIES (W 203)

09/00 - 02/07

1905162 TRACK CONTROL ARM RH
rotilli kol, 6n sag ALUMINIUM
2043302011 S1 pbiyar PAIR:1905163
Barra oscilante, suspensién de ruedas
Triangle de suspension
1905163 TRACK CONTROL ARM LH
rotilli kol, 6n sol ALUMINIUM
204330191181 pblyar PAIR:1905162

Barra oscilante, suspensién de ruedas

Triangle de suspension

MERCEDES BENZ

C-SERIES (W 204)

10/07 -11/13

denge rotu, sol (aliminyum)

1908157 STABILIZER LINK RH
denge rotu, sag (aliminyum) ALUMINUM
3 " 2043202289 A cToliKa ctabunusatopa
&S& i Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
1908158 STABILIZER LINK LH
E ALUMINUM

20432007 89 A

cToliKa ctabunusatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

MERCEDES BENZ

C-SERIES (W 205)

08/13-

1900193

2053304507 S1
2053306101 S1
2053306201 S1

TRACK CONTROL ARM BUSH
denge kolu burcu, 6n, sol-sag, alt
caiineHT6N0K

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

FRONT; BOTH SIDES; ALT

45x14x47 mm

FOR 1905105/6;1905143

MERCEDES BENZ

C-SERIES Cabrio (A205)

06/16-

1900193

2053304507 S1
2053306101 S1
2053306201 S1

TRACK CONTROL ARM BUSH
denge kolu burcu, 6n, sol-sag, alt
calineHT6N0K

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

FRONT; BOTH SIDES; ALT

45x14x47 mm

FOR 1905105/6;1905143

MERCEDES BENZ

C-SERIES Coupe ( C 204)

08/11-

4

1908157

(A
-2

2023-06 (BY APPLICATION)

f? 2043202289 A

STABILIZER LINK
denge rotu, sag (aliiminyum)
cToliKa ctabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

RH
ALUMINUM

24 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

1908158
‘ é 2043200789 A

(¢
({-v

STABILIZER LINK LH
denge rotu, sol (aliminyum) ALUMINUM
cToliKa ctabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

MERCEDES BENZ C-SERIES ( C 205)

08/15-

- 1900193
_ ’ 2053304507 S1
2053306101 51

— 2053306201 51

TRACK CONTROL ARM BUSH
denge kolu burcu, 6n, sol-sag, alt
caiineHT610K

45x14x47 mm

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

FRONT; BOTH SIDES; ALT

FOR 1905105/6;1905143

MERCEDES BENZ C-SERIES ( CL 203) 08/01-
TRACK CONTROL ARM RH
f 1905162 rotilli kol, 6n sag ALUMINIUM
204330201181 pblyar PAIR:1905163
Barra oscilante, suspensién de ruedas
Triangle de suspension
TRACK CONTROL ARM LH
\ 1905163 rotilli kol, 6n sol ALUMINIUM
204330191181 pblyar PAIR:1905162
Barra oscilante, suspensién de ruedas
Triangle de suspension
MERCEDES BENZ C-SERIES T-MODEL (S 203) 08/01-08/07
TRACK CONTROL ARM RH
{ 1905162 rotilli kol, 6n sag ALUMINIUM
2043302011 S1 pbluar PAIR:1905163
Barra oscilante, suspensién de ruedas
Triangle de suspension
TRACK CONTROL ARM LH
1905163 rotilli kol, 6n sol ALUMINIUM
204330191151 pbluar PAIR:1905162
Barra oscilante, suspensién de ruedas
Triangle de suspension
MERCEDES BENZ C-SERIES T-MODEL (S 204) 09/07-08/14
STABILIZER LINK RH
‘ 1908157 denge rotu, sag (aliminyum) ALUMINUM
g ——— 2043202289 A cToiiKa cTabunmsatopa
‘:*,,_1, ﬁ Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
STABILIZER LINK LH
1908158 denge rotu, sol (aliminyum) ALUMINUM
20432007 89 A cToiiKa ctabunusatopa

2023-06 (BY APPLICATION)

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

25 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

MERCEDES BENZ

C SERIES T-MODEL (S205)

09/14-

.]

1900193

2053304507 S1
2053306101 S1
2053306201 S1

TRACK CONTROL ARM BUSH
denge kolu burcu, 6n, sol-sag, alt
caiineHT6N0K

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

FRONT; BOTH SIDES; ALT
45x14x47 mm

FOR 1905105/6;1905143

MERCEDES BENZ

CLC (CL203)

05/08-06/11

_ 1905162 TRACK CONTROL ARM RH
f rotilli kol, 6n sag ALUMINIUM
204330201181 pblyar PAIR:1905163
Barra oscilante, suspensién de ruedas
Triangle de suspension
1905163 TRACK CONTROL ARM LH
rotilli kol, 6n sol ALUMINIUM
2043301911 S1 pblyar PAIR:1905162

Barra oscilante, suspensién de ruedas
Triangle de suspension

MERCEDES BENZ

CLK (A 209, C 209)

06/02 - 05/09

) TRACK CONTROL ARM RH
( 1905162 rotilli kol, 6n sag ALUMINIUM
2043302011581 pblyar PAIR:1905163
Barra oscilante, suspensién de ruedas
Triangle de suspension
TRACK CONTROL ARM LH
1905163 rotilli kol, 6n sol ALUMINIUM
2043301911 S1 pbluar PAIR:1905162
Barra oscilante, suspensién de ruedas
Triangle de suspension
o) .
AR =
MERCEDES BENZ  SLK (R 171) 09/04 - 02/11 - i =
TRACK CONTROL ARM RH
( 1905162 rotilli kol, 6n sag ALUMINIUM
204330201181 pblyar PAIR:1905163
Barra oscilante, suspensién de ruedas
Triangle de suspension
TRACK CONTROL ARM LH
1905163 rotilli kol, 6n sol ALUMINIUM
204330191181 pbluar PAIR:1905162
Barra oscilante, suspensién de ruedas

Triangle de suspension

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

26 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

MERCEDES BENZ

SPRINTER (B907,8910)

06/18-

1907039

_t 9074606300

A 907 460 63 00

AXIAL JOINT
rotmili, 6n sol-sag
pynesas Tara

Articulacioén axial, barra de acoplamiento

Rotule de direction intérieure

FRONT; BOTH SIDES
M16x1,5;M16x1,5;L=337 mm

‘ 1909131 TRACK CONTROL ARM FRONT,LH
rotilli kol, 6n sol
9103302500 pblyar PAIR:1909132
Barra oscilante, suspensién de ruedas
Triangle de suspension
1909132 TRACK CONTROL ARM FRONT,RH
rotilli kol, 6n sag
9103302600 pblyar PAIR:1909131
Barra oscilante, suspensién de ruedas
Triangle de suspension
) 1900218 TRACK CONTROL ARM BUSH FRONT
“ salincak burcu, 6n alt dis ONLY FWD
9103302500 S2 calineHT610K pblyara FOR 1909131/2
9103302600 S2 Rétula de suspension/carga
- . .
Silent bloc de suspension
o 1900219 TRACK CONTROL ARM BUSH FRONT
9 salincak burcu, 6n alt ig ONLY FWD
9103302500 S1 calineHT610K pblyara FOR 1909131/2
' 9103302600 S1 Rétula de suspension/carga
Silent bloc de suspension
1908185 STABILIZER LINK FRONT,LH
i l denge rotu, 6n sol L=138 mm
9063201989 cToliKa ctabunusaropa PAIR:1908186

A 90632019 89

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

1908186

9063202089
A9063202089

STABILIZER LINK
denge rotu, 6n sag
CTOWKa cTabunusaropa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

FRONT,RH
L=138 mm

PAIR:1908185

MERCEDES BENZ

X-SERIES (W470)

09/17-

1907035

i _:_;ijpmﬂﬁ::q{" 4704604800 51

AXIAL JOINT
rotmili, 6n sag-sol
pynesas Tara

Articulacion axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M14x1,5;M16x1,5;L=239 mm

MERCURY

MOUNTAINEER

08/02-08/05

1507086

_ 11273280DA

AXIAL JOINT
rotmili, 6n
pynesas Tara

Articulacion axial, barra de acoplamiento

Rotule de direction intérieure

BOTH SIDES
M14x1,5;M16x1,5;L=300 mm

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

27 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

MITSUBISHI SPACE WAGON 10/91 - 08/98
TIE ROD AXIAL JOINT FRONT
3907053 rotmili, 6n M14x1,5;M16x1,5;L=304 mm
‘__p MB870078 pynesas Tara
MR131857 Articulacioén axial, barra de acoplamiento
Rotule de direction intérieure
NISSAN ALTIMA 08/93-09/97
'*ﬁ“" 4103051 BALL JOINT FRONT LOWER
= rotil, 6n alt
5450098000 waposas onopa
4 5450198000 Rétula de suspension/carga
R &
- RK620346 Rotule de suspension
NISSAN ARMADA 08/03-12/15
4109 177 WISHBONE BOTH SIDES
salincak, arka sag-sol, alt
551B07S000 pbluar
Barra oscilante, suspensién de ruedas
Triangle de suspension
4100107 TRACK CONTROL ARM BUSH BOTH SIDES,REAR
salincak burcu, arka sag-sol
551B07S000 S1 caiineHT610K pblyara FOR 4109177
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
NISSAN MICRA K14 01/17-
TIE ROD END RH
4102140 rotbasi, 6n sag M12x1,25
D85205RB1A HAKOHEYHUK pyNieBoi TArn PAIR:4102141
Rétula barra de acoplamiento
Rotule de direction
TIE ROD END LH
4102141 rotbasi, 6n sol M12x1,25
D86405RB1A HaKOHEYHWK py/ieBOM TArU PAIR:4102140
Rétula barra de acoplamiento
Rotule de direction
TIE ROD AXIAL JOINT FRONT
4107096 rotmili, 6n M12x1,25;M14x1,5;L=239 mm
480015FA6A pynesas Tara

Articulacion axial, barra de acoplamiento

Rotule de direction intérieure

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

28 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

NISSAN NV1500, NV2500, NV3500 01/12-12/18
STABILIZER LINK FRONT
4108184 denge cubugu, 6n L=193 mm
" 546181PA0A cToliKa ctabunusatopa
\ MS308151 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
NISSAN PATHFINDER (R51) 01/05 -
4109177 WISHBONE BOTH SIDES
salincak, arka sag-sol, alt
551B07S000 pbiuar
Barra oscilante, suspensién de ruedas
Triangle de suspension
4100107 TRACK CONTROL ARM BUSH BOTH SIDES,REAR
salincak burcu, arka sag-sol
551B07S000 S1 calineHT610K pbluara FOR 4109177
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
OPEL COMBO (X12) 02/12 -
STABILIZER LINK REAR
1408028 denge rotu L=86 MM
51810124 cToliKa ctabunusaropa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
OPEL CORSA F 07/19-
=) 2102018 TIE ROD END LH
rotbasi, 6n sag
1669648580 HAKOHEYHUK pyNieBoi TArn PAIR:2102019
Rétula barra de acoplamiento
Rotule de direction
& 2102019 TIE ROD END RH
T rotbasl, 6n sol
1669648480 HaKOHEYHWK py/ieBOM TArU PAIR:2102018
Rétula barra de acoplamiento
Rotule de direction
AXIAL JOINT BOTH SIDES
2107060 rotmili, 6n sag-sol M14x1,5;M14x1,5;L=295 mm
1648322280 pynesas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
BALL JOINT BOTH SIDES
2104026 rotil, 6n sag-sol FRONT
9824626380 waposasn onopa
9831626480 Rétula de suspensidn/carga
9832039280

2023-06 (BY APPLICATION)

Rotule de suspension

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

29 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

BOTH SIDES
Q e | 2104027 Ecﬁ:-lt-tj‘)(:lglg-—sol FRONT
,‘:J 9824626780 waposas onopa ONLY FOR ELECTRICAL VEHICLES
Y 9831682580 S2 Rétula de suspension/carga
9831682780 52 Rotule de suspension
2108031 STABILIZER LINK FRONT,LH
- denge cubugu, 6n sol L=324mm; ONLY FOR ELECTRICAL VEHICLES
q 9836849580 cToliKa ctabunusatopa PAIR:2108032
: Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

2108032 STABILIZER LINK FRONT,RH
. denge cubugu, 6n sag L=324mm); ONLY FOR ELECTRICAL VEHICLES
0 9836842480 cToOiiKa crabuausaropa PAIR:2108031

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

OPEL MOKKA-e (76) 06/20-
2107060 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M14x1,5;M14x1,5;L=295 mm
¥— 1648322280 pynesas Tara
Articulacioén axial, barra de acoplamiento
Rotule de direction intérieure
2104027 BALL JOINT BOTH SIDES
’ e | rotil, dn sag-sol FRONT
-~ 9824626780 waposasa onopa ONLY FOR ELECTRICAL VEHICLES
Y 9831682580 52 Roétula de suspensidn/carga
9831682780 52 Rotule de suspension
= 2102018 TIE ROD END LH
rotbasl, 6n sag
1669648580 HaKOHEYHWK py/NieBOM TArU PAIR:2102019
Roétula barra de acoplamiento
Rotule de direction
= 2102019 TIE ROD END RH
T rotbasi, 6n sol
1669648480 HaKOHEYHUK py/NieBOM TATU PAIR:2102018
Rétula barra de acoplamiento
Rotule de direction
2107060 AXIAL JOINT BOTH SIDES
rotmili, 6n sag-sol M14x1,5;M14x1,5;L=295 mm
ﬂ,-,-_’ 1648322280 pynesas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
21 4 2 BALL JOINT BOTH SIDES
g 2 04026 rotil, 6n sag-sol FRONT
-~ 9824626380 waposas onopa
4 9831626480 Rétula de suspension/carga
9832039280 Rotule de suspension
2104027 BALL JOINT BOTH SIDES
3 e | rotil, 6n sag-sol FRONT
B 9824626780 wapoBas onopa ONLY FOR ELECTRICAL VEHICLES
Pea
4 9831682580 52 Rétula de suspensién/carga
9831682780 S2

2023-06 (BY APPLICATION)

Rotule de suspension

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

300f 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

2108031 STABILIZER LINK FRONT,LH
B . denge cubugu, 6n sol L=324mm; ONLY FOR ELECTRICAL VEHICLES
q 6 9836849580 cTOWKa crabunusaropa PAIR:2108032
d Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
2108032 STABILIZER LINK FRONT,RH

o ~
0 , 9836842480

denge ¢ubugu, 6n sag

cToliKa ctabunusatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

L=324mm; ONLY FOR ELECTRICAL VEHICLES
PAIR:2108031

PEUGEOT 2008 I 08/19-
BALL JOINT BOTH SIDES
® - 2104027 rotil, 51 sag-sol FRONT
-~ 9824626780 waposas onopa ONLY FOR ELECTRICAL VEHICLES
9831682580 52 Rétula de suspension/carga
9831682780 S2

Rotule de suspension

PORSCHE PANAMERA (970) 01/10 -
4600005 TRACK CONTROL ARM BUSH UPPER; FRONT
salincak burcu, 6n Gst
97034105103 S1 caiineHT610K FOR: 4609000
97034105110 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
PONTIAC TORRENT 08/06 - 08/08
5600093 TRACK CONTROL ARM BUSH
denge kol burcu
2284251251 caiineHT610K FOR 5609150
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
RAM 1500 08/11-
TRACK CONTROL ARM FRONT; UPPER
6009116 rotilli kol, 6n Gst 4WD WITH 8 LUG WHEELS
— 52013797AB pbivar
52013797AC Barra oscilante, suspensién de ruedas
52106784AD Triangle de suspension
6000084 TRACK CONTROL ARM BUSH FRONT; UPPER
@ rotilli kol burcu, 6n Ust
e 52013797AB S1 caineHTbnoK FOR 6009116
) 52013797ACS1 Casquillo cojinete, brazo oscilante

52106784AD S1

Silent bloc de suspension

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

310f37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

RAM 2500 02/11-12/18
TRACK CONTROL ARM FRONT; UPPER

6009116 rotilli kol, n dist 4WD WITH 8 LUG WHEELS
52013797AC Barra oscilante, suspensién de ruedas
52106784AD Triangle de suspension
6000084 TRACK CONTROL ARM BUSH FRONT; UPPER

9 rotilli kol burcu, 6n Ust

'J‘;:w 5 52013797AB S1 caiineHT6N0K FOR 6009116

:) 52013797ACS1 Casquillo cojinete, brazo oscilante

52106784AD S1

Silent bloc de suspension

SATURN VUE 08/04 - 08/10
5609150 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, list
15146375 pblyar
22842512 Barra oscilante, suspensién de ruedas
22945699 Triangle de suspension
5600093 TRACK CONTROL ARM BUSH
denge kol burcu
22842512 S1 calineHT6N0K FOR 5609150
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
SKODA OCTAVIA IV (NX3) 01/20-
TIE ROD END LH
2902050 rotbasi, 6n sol M16x1,5
5WA423811C HaKOHEYHUK pyNeBon TArn PAIR:2902051
5WA423811E Rétula barra de acoplamiento
SWA423811E Rotule de direction
TIE ROD END RH
2902051 rotbasi, 6n sag M16x1,5
5WA423812C HaKOHEYHWUK pyNeBOM TATU PAIR:2902050
5WA423812E Rétula barra de acoplamiento
SWA423812E Rotule de direction
SUBARU TRIBECA 08/05-08/14
3509042 STRUT CONTROL ARM REAR,LH
denge kolu, arka sol
20250XA05A pblyar PAIR:3509043
Barra oscilante, suspensién de ruedas
Triangle de suspension
3509043 STRUT CONTROL ARM REAR,RH
denge kolu, arka sag
20250XA03A pblyar PAIR:3509042

2023-06 (BY APPLICATION)

Barra oscilante, suspensién de ruedas
Triangle de suspension

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

320f37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

3500013 TRACK CONTROL ARM BUSH BOTH SIDES,REAR
denge kol burcu, arka sag-sol
20250XA03A S1 calineHT610K pblyara FOR 3509042/3
20250XA05A S1 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
3500014 TRACK CONTROL ARM BUSH BOTH SIDES,REAR
denge kol burcu, arka sag-sol
20254XA03A calineHT6N0K pblyara FOR 3509042/3
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
5600093 TRACK CONTROL ARM BUSH
denge kol burcu
22842512 S1 calineHT6N0K FOR 5609150
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
TESLA MODEL S 08/12-
FRONT
. 710 0 STABILIZER LINK
) - 8009 denge rotu, 6n L=229 mm
1030603008 cToliKa ctabunusatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
TESLA MODEL 3 (5YJ3) 01/17-
7102002 TIE ROD END BOTH SIDES
rotbasi, 6n sag-sol
1027841008 HaKOHEYHUK py/NieBOM TATU
j A——— Rétula barra de acoplamiento
Rotule de direction
g 7100005 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
rotilli kol burcu, 6n sag-sol
-5 104435400A S1 caneHTb10K FOR 7105007/8
| 104435900A 51 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
7105009 TRACK CONTROL ARM BOTH SIDES
rotilli kol, 6n sag-sol, alt FRONT LOWER
104434100D pblyar
Barra oscilante, suspensién de ruedas
Triangle de suspension
7100006 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
rotilli kol burcu, 6n sag-sol 46,8x14,2x64 mm
104434100D S1 caiineHT610K pblyara FOR 7105009
Casquillo cojinete, brazo oscilante
— Silent bloc de suspension
7100007 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
rotilli kol burcu, 6n sag-sol 0D:60 mm
104434100D S2 calineHT610K pblyara FOR 7105009

1044343-00-D
1188341-00-C

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

330f37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

TESLA MODEL X 08/12 - 08/18
7102002 TIE ROD END BOTH SIDES
‘ rotbasi, 6n sag-sol
- 1027841008 HaKOHEYHWK py/ieBOM TArU
9" Rétula barra de acoplamiento
Rotule de direction
7108003 STABILIZER LINK FRONT
denge rotu, 6n sag-sol
r—-—b 1027391008 cToliKa ctabunusaropa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
TESLA MODELY (5YJY) 03/19-
TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
7100007 rotilli kol burcu, 6n sag-sol 0OD:60 mm
104434100D S2 calineHT610K pbluara FOR 7105009
1044343-00-D Casquillo cojinete, brazo oscilante
1188341-00-C Silent bloc de suspension
TOYOTA CROWN (S17) 09/99-05/04
BALL JOINT LH
4204094 rotil, 6n sol FRONT
4334039425 wapoBas onopa PAIR:4204095
Rétula de suspension/carga
Rotule de suspension
BALL JOINT RH
4204095 rotil, 6n sag FRONT
4333039545 waposas onopa PAIR:4204094
Rétula de suspension/carga
Rotule de suspension
TOYOTA FJ CRUISER 08/07-09/09
4207127 AXIAL JOINT FRONT; INNER

k—l:-‘*—— == 4550339305

rotmili, 6n, i¢

pynesas tara

Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

M15x1,5;M22x1,5;L=286 mm

TOYOTA

HIGHLANDER (U3) XU20

08/01-08/07

SR\ -

2023-06 (BY APPLICATION)

4207128

4550349085

AXIAL JOINT

rotmili, 6n, i¢

pynesas Tara

Articulacioén axial, barra de acoplamiento
Rotule de direction intérieure

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

FRONT; INNER
M15x1,5;M14x1,5;L=245 mm

34 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

TRACK CONTROL ARM REAR; LOWER
4209249 denge kolu, arka alt FOR FWD; YEAR ONLY 2004-2006

H ) 1573048090 pbivar

Barra oscilante, suspensién de ruedas
Triangle de suspension

TOYOTA HIGHLANDER (XU40,XU50) 08/08-08/16
4209246 oo A

:—_‘ 4871048070 pruar

Barra oscilante, suspensién de ruedas
Triangle de suspension

TOYOTA PRIUS Hatchback W2 (NHW20) 08/03 -12/09

4209261 WISHBONE FRONT,RH

salincak, 6n sag, alt
4806847040 pblyar PAIR:4209262

Triangle de suspension

4209262 WISHBONE FRONT,LH

salincak, 6n sol, alt
4806947040 pbiyar PAIR:4209261

Barra oscilante, suspensién de ruedas

“ Barra oscilante, suspensién de ruedas

Triangle de suspension

TOYOTA SEQUOIA 08/00-08/07

4209247 TRACK CONTROL ARM REAR,RH

denge kolu, arka sag, Ust UPPER
H 4871034010 pbiyar PAIR:4209248

Barra oscilante, suspensién de ruedas
Triangle de suspension

TRACK CONTROL ARM REAR,LH
4209248 denge kolu, arka sol, st UPPER

Q_H 4871034020 pbivar PAIR:4209247
Barra oscilante, suspensién de ruedas

Triangle de suspension

A

TOYOTA TACOMA (N1) 01/95 - 08/04 m

4207107 AXIAL JOINT BOTH SIDES
rotmili, 6n
W 4550339065 pynesas Tara
4550339066 Articulacion axial, barra de acoplamiento

Rotule de direction intérieure

STOCK AND PRICE INFO ONLINE
2023-06 (BY APPLICATION) WWW._FORMPART.COM 350f37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

TOYOTA TACOMA 08/16-
WISHBONE FRONT,RH
. P 4209244 salincak, 6n sag, alt LOWER
4806804060 pblyar PAIR:4209245
Barra oscilante, suspensién de ruedas
- Triangle de suspension
WISHBONE FRONT,LH
< = 4209245 salincak, 6n sol, alt LOWER
4806904060 pblyar PAIR:4209244
Barra oscilante, suspensién de ruedas
- . .
Triangle de suspension
TOYOTA VENZA 08/09-08/14
4209246 TRACK CONTROL ARM REAR
denge kolu, arka L=498 mm; FOR 4x4

H 4871048070

pbivar
Barra oscilante, suspensién de ruedas
Triangle de suspension

VOLKSWAGEN CADDY V 09/20-

- TIE ROD END LH
2902050 rotbasi, 6n sol M16x1,5
5WA423811C HaKOHEYHWK py/NIeBOM TATU PAIR:2902051
5WA423811E Rétula barra de acoplamiento
5WA423811F Rotule de direction

TIE ROD END RH
2902051 rotbasi, 6n sag M16x1,5
5WA423812C HaKOHEYHUK py/NieBOM TATU PAIR:2902050
5WA423812E Rétula barra de acoplamiento
5WA423812E

Rotule de direction

VOLKSWAGEN TIGUAN (AD1) 01/16-

TIE ROD END LH
2902050 rotbasi, 6n sol M16x1,5
5WA423811C HaKOHEYHWK py/ieBOM TArU PAIR:2902051
5WA423811E Rétula barra de acoplamiento
SWA423811E Rotule de direction

TIE ROD END RH
2902051 rotbagi, 6n sag M16x1,5
5WA423812C HaKOHEYHWUK pyNeBOn TArn PAIR:2902050
5WA423812E Rétula barra de acoplamiento
5WA423812E

Rotule de direction

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

36 of 37



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

VOLVO V90 Il (235,236) 10/17-
‘é} . 3009041 WISHBONE FRONT,RH
. N P salincak, 6n sag, st
é 31360633 pblyar PAIR:3009042
Barra oscilante, suspensién de ruedas
© Triangle de suspension
2 FRONT,LH
. _ed 3009042 WISHBONE ot
¥ salincak, 6n sol, Ust
'Y 31360630 pbiuar PAIR:3009041
Barra oscilante, suspensién de ruedas
o4 Triangle de suspension
’ m |
VOLVO XC40 (536) 10/17 - &‘i—
FRONT
3000035 TRACK CONTRQAL ARM BUSH
. salincak burcu, 6n i¢
32221282 S2 calineHT610K pbluara FOR 3009043/4

32221283 S2

Rétula de suspensidn/carga
Silent bloc de suspension

3000036

3222128283
32221283 S3

TRACK CONTROL ARM BUSH
salincak burcu, 6n dis
caiineHT610K pbluara

Rétula de suspension/carga
Silent bloc de suspension

FRONT

FOR 3009043/4

: L =\ N SN

VOLVO XC60 1l (246) 10/17- . '\"‘“ﬁ'
. =
.é ” 3009041 WISHBONE FRONT,RH
~ 2 £ salincak, 6n sag, st
é 31360633 pblyar PAIR:3009042
Barra oscilante, suspensién de ruedas
© Triangle de suspension
" L
) 3009042 WISHBONE FRONT A
¥ salincak, 6n sol, Ust
‘- 31360630 pbiyar PAIR:3009041
Barra oscilante, suspensién de ruedas
< Triangle de suspension
VOLVO XC90 Il (256) 06/15 -
& 3009041 WISHBONE FRONT,RH
~ 2 £ salincak, 6n sag, st
é 31360633 pblyar PAIR:3009042
Barra oscilante, suspensién de ruedas
© Triangle de suspension
3 FRONT,LH
. e 3009042 WISHBONE ’
¥ salincak, 6n sol, Ust
> 31360630 pbiuar PAIR:3009041

Barra oscilante, suspensién de ruedas
Triangle de suspension

FLYER-2023-06

2023-06 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

37 of 37



